Rationalizing the Denominator: Two Terms

Multiply the numerator and the denominator by the conjugate of the denominator.

6 _ 6 3+3_  18+63_ 18+6\/§=6(3+\/§):3+J§
3-3 3-B 3+ 9-Yo 9-3 6

2-\3 _ 2-43 V2-+6_ 2J2-2J6-6+18_ 2236 ++9-2 _
2446 N2+46 2-+6 J4-36 2-6
242-3J6+3J2_ 5V2-3J6
-4

4

5 _ 5 x=1_5(=+7)_ 5x-5V7)
x+47 x+d7 x=7 ¥ -7 x* =7

TRY:

Some expression can be simplified first by dividing out common factors from the numerator and the
denominator.

2141442 T(3+22) _ v

7 7
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Some expressions can be simplified first before rationalizing.

5 5 _ 5 5

1
104+/50 10+425-2 10+5V2 52++2) 2++2

Now, rationalize the denominator.

1 1 2-\2_2-V2_2-V2 2-\2
242 2442 22 4-N& 42 2

6 _ 6

2
3-3V2 3(1-2) 1-42

2 _ 2 1432 24222422, 2+2J’
V2 12 1442 144 1-2 -2+ 22)=2-2\2

Now, rationalize the denominator.

TRY:

x—16

i
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